Bid Award Work Sheet

DEPARTMENT:

Clark County Sheriff's Office Food Services.

BID NAME:

Bid # 2617 - Annual Meat and Poultry

BID DESCRIPTION:

The yearly estimated use of Meat and Poultry products for the Clark County Sheriff's Office facilities and Juvenile Detention Hall.

SOURCE OF FUNDS:

General Operating Funds

BUDGET IMPACT:

\$96,233.34 annually to Food Cost.

ALTERNATIVES CONSIDERED:

The Clark County Sheriff's Office (CCSO) is regulated and federally mandated to provide nutritious meals to correctional inmates that meet USDA Dietary guidelines.

RECOMMENDATION:

The Clark County Sheriff's Office intends to award this bid to the lowest responsive bidder.



proud past, promising future

TO:

Board of County Councilors

FROM:

Michael Westerman, Purchasing Manager ~

DATE:

March 27, 2015

SUBJECT: Award of Bid #2617 - Annual Meat and Poultry

The purpose of this annual requirements bid is to provide weekly deliveries of meat and poultry to the Clark County Jail Work Center to be used in prepared meals for the Correctional Facilities.

Purchasing received two responses to Annual Meat and Poultry. The bids were checked for accuracy, content, and compliance to specifications.

Purchasing and the Sheriff's Department recommend that Annual Meat and Poultry be awarded to the low bidder, National Food Group of San Diego, CA, in the total bid amount of \$96,233.34 and grant authority to the County Manager to sign all bid related contracts.

	th Deligner		allering as letter letter of at						
	OPENING DATE:		24-Mar-15		AWARD DATE:	31-Mar-15		BID NUMBER	2617
Annual Meat and Poultry		National Food Group 10803 Thornmint Rd Ste 105 San Diego, CA 92127			Sysco Foods - W 26250 SW Parky Wilsonville, OR	vay Center Dr.			
DESCRIPTION	QTY	UNIT PRICE	TOTAL	QTY	UNIT PRICE	TOTAL	QTY	UNIT PRICE	TOTAL
TOTAL OF EXTENSIONS (Items 1 through 9)			\$96,223.34			\$126,583.77			
	*								
					1				
		£ .							
						<u> </u>	L	<u>. </u>	

The fat content of all beef products listed within these specifications shall not exceed 20% unless otherwise noted in line item descriptions below. All products shall conform to specifications set forth in the "Meat Buyers Guide" published by the National Association of Meat Purveyors.

	National Food Group			YEARLY	DE PLANTE DE LA COMPANION DE L	REQUIRED FI	ELDS
ITEM			UNIT	ESTIMATED	# OF CASES	PRICE PER	
NO.	DESCRIPTION	UNIT	CASE	USAGE	PER YEAR	CASE	EXTENSION
1	BREADED FISH PORTION: Oven Ready Breaded 3 oz Haddock fish portions. No fryers necessary. Each portion contains a minimum of 190 calories and 13g protein. Rectangle 2 1/2 x 4 inch dimension. Pack: 10 lb IQF case	10 lb.	1	2,800 lbs	280	17.42	\$4,877.60
	MEATBALL: Fully Cooked Chicken & Beef Meatballs in 1 oz portions. Authentic Italian Seasonings & breadcrumbs. Pack: 30 lb for approximately 480/1 oz per cs. Each 2 oz serving provides a minimum of 8g protein and 6% iron. Sodium not to exceed 100mg per serving. Pork Free.	30 lb	1	2,500 lbs	83	46.74	\$3,879.42
3	MSC: Mechanically separated chicken with nothing added! pack: 50 lb bulk wax lined box. Palletized. Frozen. 1 year shelf life. Product of USA.	50 lb	1	65,000 lbs	1300	29.53	\$38,389.00
4	Burger, Chicken & Beef: Fully Cooked 3 oz hamburgers made from a combination of chicken& beef. IQF. Round shape. Each portion provides 12g protein and 10% iron. Pack: 30 lb IQF for approx. 160 portions per case	30 lb	1	15,000 lbs	500	43.27	\$21,635.00
5	Turkey Ends & Pieces: REDUCED Sodium Turkey Ends & Pieces. Each 2 oz serving provides 70 calories and 13g protein with sodium not to exceed 240mg. Pack in 16.5 lb Average Catchweight Cases (3 bags inside)	5.5 lb.	3	8,700 lbs	527	14.04	\$7,399.08
6	Chicken Patty: Breaded Chicken Patty is Ready to Cook, Oven Ready. Target size = 2.9 oz each. each portion provides a minimum of 190 calories and 11g protein. Pack:20 lb case. IQF. Breading Set in Vegetable Oil.	2.9 oz	110	4,329 lbs	216	23.59	\$5,095.44

PART VII - BID TABULATION

7	PREMIUM SMOKED TURKEY SLICES ENDS & PIECES: Premium smoked turkey slices with ends & pieces. GREAT value. Ready to use for sandwiches and use ends & pieces to chop for any other turkey casserole dish. Pack: 3/5-6 lb for 16.5 average catchweight case. each 2 oz provides minimum 60 calories and 12g protein. No dating.	5.5 lb	3	3,150 lbs	191	14.04	\$2,681.64
8	CHICKEN SAUSAGE: 5 TO 1- 3.2 OZ CHICKEN Sausage is fully cooked and pork free. No casing. Each sausage provides a minimum of 190 calories and 19g protein. Pack: 100/3.2 oz IQF portions. Pork Free. Fully Cooked and oven ready.	20 lb.	1	1,840 lbs	92	24.18	\$2,224.56
9	TURKEY BOLOGNA: Ready to slice and serve for fresh sandwiches! Pack: 2/10 lb logs. 5 inch diameter. Each 2 oz portion provides 120 calories and 7g protein. NO Pork. Packed fresh to order with minimum 6 month remaining shelf life	10 lb.	2	10,400 lbs	520	19.33	\$10,051.60

TOTAL OF EXTENSIONS (Items 1 through 9) 96.233.34

NOTE: Alternates to the items listed above or products that do not conform to specifications will not be accepted.

Cash discount N/A % for payment within ______. It is acknowledged that the documents enclosed are hereby incorporated by reference and upon award constitute a contract between the undersigned and the County of Clark. Vendor certifies that he has not entered into any agreement whatever to fix or maintain prices or competition with respect to this contract.

Washington State Registration No. 602-807-447